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Calculus Complete on a separate sheet of paper & Name

#26 Motion Part 2 C\usswodw Date | Period___

-« particle moves along a hzézontal line. It; mis s(¢) for £ > 0. For each problem, ﬁg()l the
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velocity function »(¢), the ak&eleration function a7}, the times ¢ when the particle chan lirections, the
intervals of time when the partlcle is moving left and moving right, and the times £ when the acceleration is
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A particle moves along a horizontal line. Itslposnflon function is s(#) for £ > 0. For each problem, find the
;E)osition, velggity, s;ig}%d, and acceleration at the given value for 7
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A particle moves along a coordinate line. Its/velocity functionlis () for ¢ > 0. For each problem, find the

position function ns(e). _initial condidon ImeP0Shen 15 O oF Yt =O
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A particle moves along a coordinate line. Its!acceleration function]is a(¢) for ¢ > 0. For each problem,
nction (7).

find the gosition function s(¢) and the velocity fu
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A particle moves along a coordinate line Its(acceleration function)is a(t) for ¢ > 0. For each problem,
find the velocity at the glven value for J(w"‘
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A particle moves along a coordinate line. Its velocity function is () for £ > 0. For each problem, find the

position and velocity at the given value for ¢
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A particle moves along a coordinate line. Itsrelocity function is v(z) for £ > 0. For each problem, find the
_ displacement of the particle and the distance fraveled by the particle over the given interval.
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